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RAILWAY - 05 
Directions (Q. Nos. 1-5): Select the related Letters/word/number from the given alternative. 
funsZ'k ¼iz'u 1-5½% fn, x, fodYiksa esa ls lacaf/kr v{kj@”kCn@la[;k pqfu,% 
Q.1) Giant : Dwarf : : Genius : ? 

 fo”kkydk; % ckSuk % % izfrHkk % \ 

 a) Wicked/nq’V 

 b) Gentle/lTtu 

 *c) Idiot/csodwQ 

 d) Tiny/NksVk 

 Solution: (c) ‘Dwarf is the antonym of Giant’. Similarly, the antonym of ‘Genius is 
Idiot’. 

Q.2) Botany : Plants : : Entomology : ? 

 ouLifr foKku % ikS/ks % % dhVfoKku % \ 

 a) Snakes/lkai 

 *b) Insects/dhV 

 c) Birds/i{kh 

 d) Germs/dhVk.kq 

 Solution: (b) Botany is the branch of science which deals with the study of plants. 
Similarly, Entomology is the branch of science which deals with the study of insects.  

Q.3) Menu : Food : : Catalogue : ? 

 Hkkstulwfp % Hkkstu % % rkfydk % \ 

 a) Rack/jSd 

 b) Newspaper/v[+kckj 

 *c) Library/iqLrdky; 

 d) Cotton/dikl 

 Solution: (c) Menu lists all the food items in a restaurant. Similarly, catalogue is a list 
of all the books in a library. 

Q.4) Pulp : Paper : : Hemp : ? 

 yqxnh % dkxt % % twV % \ 

 a) Basket/Vksdjh 

 b) Yarn//kkxk 

 *c) Rope/jLlh 

 d) Cotton/dikl 

 Solution: (c) Pulp is the basic raw material used in the production of paper. Similarly 
hemp is used to make rope.   

Q.5) Mango : Fruit : : Potato : ? 

 vke % Qy % % vkyw % \ 

 a) Root/tM+ 

 b) Fruit/Qy 

 *c) Stem/MaBy 

 d) Flower/Qwy 

 Solution: (c) Biologically, mango is a fruit, while potato is a modified stem.  

SSC/BANK/RLY Any One Day Exams



2 
 

Directions (Q. Nos. 6-10): Find the odd word/number/letters from the given alternatives. 
funsZ'k ¼iz'u 6-10½% fn, x, fodYiksa esa ls ”kCn@la[;k@v{kj Kkr djsaA 

Q.6) a) Dog/dqÙkk 

 b) Frog/esa<d 

 *c) Hen/eqxhZ 

 d) Horse/?kksM+k 

 Solution: (c) NA 

Q.7) a) Kolkata/dydÙkk 

 b) Bengaluru/csaxyq# 

 *c) New Delhi/ubZ fnYyh 

 d) Chennai/psUubZ 

 Solution: (c) New Delhi is the only city among the rest which is in North.  

Q.8) a) House/?kj 

 b) Apartment/vikVZesaV 

 *c) Society/lkslkbVh 

 d) Building/fcfYMax 

 Solution: (c) All except Society represent a single dwelling unit. 

Q.9) a) Troop/lSU;ny 

 b) Group/lewg 

 *c) Mob/HkhM+ 

 d) Class/oxZ 

 Solution: (c) All except Mob represent well-organised groups. 

Q.10) a) Investigation/tk¡p 

 b) Analysis/fo”ys’k.k 

 c) Search/[kkst 

 *d) Conclusion/fu’d’kZ 

 Solution: (d) All others are preliminary stages of an experiment. 

Direction (Q. Nos. 11-12): Select the missing number/letters from the given options. 
funsZ'k ¼iz'u 11-12½% fn, x, fodYiksa esa ls yqIr la[;k@v{kj pqfu,A 
Q.11) 16, 33, 65, 131, 261, ? 

 *a) 523 

 b) 521 

 c) 613 

 d) 721 

 Solution: (a) Each number is twice the preceding one with 1 added or subtracted 
alternatively. So, the next number is (2 × 261 + 1) = 523. 

Q.12) 8, 24, 12, 36, 18, 54, ? 

 *a) 27 

 b) 108 

 c) 68 

 d) 72 

 Solution: (a) Numbers are alternatively multiplied by 3 and divided by 2. 
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Direction (Q. Nos. 13-14): In each of the following questions, choose one word which can be 
formed from the letters of the given word. 

funsZ'k ¼iz'u 13-14½% fuEufyf[kr izR;sd iz”u esa fn, x, “kCnksa esa ls og “kCn pqfu,] tks fn, x, “kCn ds v{kjksa dk 
iz;ksx djds cuk;k tk ldrk gSA 
Q.13) IMMEDIATELY 

 a) DIALECT 

 *b) LIMITED 

 c) DIAMETER 

 d) DICTATES 

 Solution: (b) NA  

Q.14) ENVIRONMENT 

 a) MOVEMENT 

 b) ENTERTAIN 

 *c) EMINENT 

 d) ENTRANCE 

 Solution: (c) NA 

Q.15) If A > B, B > C and C > D, then which of the following conclusions is definitely wrong? 

 ;fn A > B, B > C vkSj C > D gS] rks fuEufyf[kr esa ls dkSu lk fu’d’kZ fuf”pr rkSj ij xyr gS\ 

 a) A > D 

 b) A > C 

 *c) D > A 

 d) B > D 

 Solution: (c) A > B, B > C, C > D  A > B > C > D  A > D  D not greater than A. So 
(c) is false. 

Q.16) If × means ÷, – means ×, ÷ means + and + means –, then (3 – 15 ÷ 19) × 8 + 6 = ? 

 ;fn × dk vFkZ ÷, – dk vFkZ ×, ÷ dk vFkZ + vkSj + dk vFkZ – gS] rks (3 – 15 ÷ 19) × 8 + 6 = ? 

 a) –1 

 *b) 2 

 c) 4 

 d) 8 

 Solution: (b) Using the correct symbols, we have: 

 Given expression = (3 × 15 + 19) ÷ 8 – 6 = 64 ÷ 8 – 6 = 2. 

Direction (Q. Nos. 17-18): In each of the following questions, arrange the given words in a 
meaningful sequence and then choose the most appropriate sequence from amongst the 
alternatives provided below each questions. 

funsZ'k ¼iz'u 17-18½% fuEufyf[kr izR;sd iz”u esa fn, x, “kCnksa dks vFkZiw.kZ Øe esa O;ofLFkr djsa vkSj izR;sd iz”u esa 
fn, x, fodYiksa esa ls lcls mi;qDr Jà[kyk pqfu,A 

Q.17) 1. Butterfly/frryh 

 2. Cocoon/dksdwu 

 3. Egg/vaMk 

 4. Worm/Ñfe 

 a) 1, 3, 4, 2 

 b) 1, 4, 3, 2 

 c) 2, 4, 1, 3 

 *d) 3, 4, 2, 1 

 Solution: (d) NA 
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Q.18) 1. Rain/ckfj”k 

 2. Monsoon/ekulwu 

 3. Rescue/cpko 

 4. Flood/ck<+ 

 5. Shelter/vkJ; 

 6. Relief/jkgr 

 a) 1, 2, 3, 4, 5, 6 

 b) 1, 2, 4, 5, 3, 6 

 c) 2, 1, 4, 3, 5, 6 

 *d) 4, 1, 2, 3, 5, 6 

 Solution: (d) NA 

Q.19)  

  

25

6

17 38

8

18 89

?

16

 

 a) 13 

 *b) 15 

 c) 17 

 d) 19 

 Solution: (b) The sum of the two numbers in the upper part is 7 times the number in 
the lower part. So, missing number = (89 +16) ÷ 7 = 15. 

Q.20) Select the correct set of A, which will fit in the given equation. 

 A ds fy, lgh leqPp; pqfu,] tks fn, x, lehdj.k esa mi;qDr gSA 

  18 A 6 A 7 A 5 A 2 A 18 

 *a) ÷, ×, –, +, = 

 b) +, ÷, ×, –, = 

 c) ×, ÷, –, =, + 

 d) ÷, ×, +, =, – 

 Solution: (a) Using the proper sing of option (a). 

   18 ÷ 6 × 7 – 5 + 2 = 18 

   3 × 7 – 5 + 2 = 18 

   23 – 5 + 2 = 18 

Q.21) A, B, C, T, D and E are sitting in a row. D and E are in the centre and A and B are at 
the ends. C is sitting on the left of A. then who is sitting on the right of B? 

 A, B, C, T, D vkSj E ,d iafDr esa cSBs gSaA D vkSj E dsUnz esa gSa vkSj A vkSj B Nksjksa ij gSaA C, A ds ck;s 
gS] rks B ds nk;s dkSu gS\ 

 a) A 

 b) D 

 *c) T 

 d) E 

 Solution: (c) Arrangement in the row is : B, T, D, E, C. So right of B is T. 
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Q.22) If D = 4 and PAD = 21 then RAPID = ? 

 ;fn D = 4 vkSj PAD = 21 gS] rks RAPID = ? 

 a) 44 

 b) 45 

 *c) 48 

 d) 52 

 Solution: (c) D = 4, P = 16, A = 1, D = 4 

  If A, B, ...... to Z = 1, 2, ... to 26 

  Then, RAPID = 18 + 1 + 16 + 9 + 4 = 48 

Q.23) Which one set of letters when sequentially placed at the gaps in the given letter series 
shall complete it? 

 v{kjksa dk dkSu lk lewg [kkyh LFkkuksa esa Øekuqlkj j[kusa ls nh xbZ J`a[kyk dks iwjk djsxk\ 
  — bcdbc — dcabd — bcdbc — dc — bd 

 *a) aaaaa 

 b) cccda 

 c) bbcad 

 d) accbd 

 Solution: (a) Pattern is: abcd / bcad / cadb / abcd / bcad / cabd 

Direction (Q. Nos. 24-25): Each question consists of three statements followed by two 
conclusions I and II. Consider the statements to be true even if they are in variance with the 
commonly known facts. Read all the conclusions and then decide which of the given conclusions 
and then decide which of the given conclusions logically follow from the given statements using 
all the three statements together. Mark your answer as — 

funsZ'k ¼iz'u 24-25½% izR;sd iz”u esa rhu dFku fufgr gS] ftuds nks fu’d’kZ I vkSj II vuqlj.k djrs gSaA vkidks fn, 
x, dFkuksa dks lR; ekuuk gS] Hkys gh os loZKkr rF;ksa ls fHkUu izrhr gksrs gksaA fn, x, fu’d’kks± dks /;kuiwoZd i<+sa vkSj 
fQj ;g fu”p; djsa fd dkSu lk@ls fu’d’kZ rkÆdd :i ls fn, x, dFkuksa dk vuqlj.k djrs gSaA viuk mÙkj fuEu ds 
:i esa crk;saaA 

Q.24) Statements/dFku: 

 Some cars are mobiles./dqN dkj eksckby gSaA 

 All mobiles are phones./lHkh eksckbZy Qksu gSaA 

 All cars are trucks./lHkh dkj Vªd gSaA 

 Conclusions/fu’d’kZ: 

I. Some cars are not phones./dqN dkj Qksu ugha gSaA 
II. All trucks are phones is a possibility./lHkh Vªd ds Qksu gksusa dh laHkkouk gSA 

 a) If only conclusion I follows./dsoy fu’d’kZ I vuqlj.k djrk gSA 

 *b) If only conclusion II follows./dsoy fu’d’kZ II vuqlj.k djrk gSA 

 c) If either conclusion I or conclusion II follows./;k rks fu’d’kZ I ;k fu’d’kZ II vuqlj.k djrk 
gSA 

 d) If neither conclusion I nor conclusion II follows./u rks fu’d’kZ I vkSj u gh fu’d’kZ II vuqlj.k 
djrk gSA 

 Solution: (b) Only Conclusion II follows. 

  

Truck Cars Mobiles

Phones
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Q.25) Statements/dFku: 

 All bricks are stones./lHkh b±Vs iRFkj gSaA 

 Some stones are rocks./dqN iRFkj pV~Vku gSaA 

 All rocks are mountains./lHkh pV~Vkusa ioZr gSaA 

 Conclusions/fu’d’kZ: 

I. Some mountains which are stones are also a part of bricks./dqN ioZr tks iRFkj gSa] os b±V 
Hkh gSaA 

II. No rock is brick is a possibility./fdlh Hkh pV~Vku ds b±V gksus dh laHkkouk ugha gSA 

 a) If only conclusion I follows./dsoy fu’d’kZ I vuqlj.k djrk gSA 

 *b) If only conclusion II follows./dsoy fu’d’kZ II vuqlj.k djrk gSA 

 c) If either conclusion I or conclusion II follows./;k rks fu’d’kZ I ;k fu’d’kZ II vuqlj.k djrk 
gSA 

 d) If neither conclusion I nor conclusion II follows./u rks fu’d’kZ I vkSj u gh fu’d’kZ II vuqlj.k 
djrk gSA 

 Solution: (b) Only Conclusion II follows 

    

Bricks

Rocks

Stones

Mountains

 

Q.26) A walks at a uniform rate of 4 km an hour; and 4 hours after his starts, B bicycles after 
him at the uniform rate of 10 km an hour. How far from the starting points will B catch 
A? 

 A, 4 fdeh izfr ?kaVk dh nj ls pyrk gS( vkSj mlds pyus ds 4 ?kaVs ckn] B lkbfdy ls 10 fdeh izfr ?kaVk 
dh nj ls mlds ihNs vkrk gSA vkjafHkd Çcnq ls B fdruh nwjh ij A ls feysxk\ 

 a) 16.7 km/16.7 fdeh 

 b) 18.6 km/18.6 fdeh 

 c) 21.5 km/21.5 fdeh 

 *d) 26.6 km/26.6 fdeh 

 Solution: (d) Distance covered by A in 4 hours = 4 × 4 = 16 km 

  Relative speed of B with respect to A = 10 – 4 = 6 km/h 

  Time taken to catch A = 16/6  8/3 Hours 

  Required Distance = 80/3 = 26.67 km 

Q.27) Find the ratio of the sixth and fifth term of the sequence 5, 8, 41, 33, ......., 61? 

 fuEu Jà[kyk dk NBs vkSj ikaposa in dk vuqikr Kkr djsa% 

 a) 19 : 14 

 b) 3 : 4 

 *c) 14 : 19 

 d) 4 ; 3 

 Solution: (c) Series 5, 8, 41, 33, 57, 42, 61 

  Ratio = 42/57  14/19 
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Q.28) A reduction of 20% in the price of sugar enables a purchaser to obtain 3 kg more for    
` 120. The original price of sugar (per kg) is: 

 phuh ds ewY; esa 20% dh fxjkoV gksus ls ,d miHkksDrk dks ` 120 esa 3 kg phuh vf/kd feyrh gSA phuh 
dk okLrfod ewY; 

 a) ` 15 

 b) ` 12 

 *c) ` 10 

 d) ` 8 

 Solution: (c) NA 

Q.29) A pipe can empty a tank in 40 minutes. A second pipe with diameter twice much as 
that of the first is also attached with the tank to empty it. The two together can empty 
the tank in: 

 ,d ikbi ,d Vadh dks 40 feuV esa [kkyh dj ldrk gSA ,d nwljk ikbi ftldk O;kl igys ikbi ls 
nksxquk gS] bl Vadh dks [kkyh djus ds fy, blesa tksM+ fn;k tkrk gSA nksuksa ikbi bl Vadh dks fdrus le; esa 
[kkyh dj ldrs gSa\ 

 *a) 8 minutes/8 feuV 

 b) 13
3

1
minutes/13

3

1
feuV 

 c) 30 minutes/30 feuV 

 d) 38 minutes/38 feuV 

 Solution: (a) Here volume of water emptied by the second pipe will be 4 times to that of 
first Hence, Time take will be ¼ of the first pipe. When both the pipes are open the part 
of the tank emptied in 1 minute = 1/8 Hence the tank will be emptied in 8 minutes. 

Q.30) A can do ½ of a piece of work in 5 days. B can do 3/5 of the same work in 9 days and 
C can do 2/3 of that work in 8 days. In how many days can three of them together do 
the work? 

 A ,d dke ds ½ Hkkxk dks 5 fnuksa esa dj ldrk gSA B blh dke ds 3/5 Hkkx dks 9 fnuksa esa vkSj C blh 
dke ds 2/3 Hkkx dks 8 fnuksa esa dj ldrk gSA rhuksa ,d lkFk feydj bl dke dks fdrusa fnuksa esa iwjk dj 
ldrs gSa\ 

 a) 3 

 b) 5 

 c) 4½ 

 *d) 4 

 Solution: (d) (A + B + C) one days work = 
4

1

12

1

15

1

10

1
  

  Hence together they complete the work in 4 days. 

Q.31) The cost of carpeting a room is ` 120. If the width had been 4 meters less, the cost of 
the carpet would have been ` 20 less. The width of the room is: 

 ,d dejs esa dkjisV fcNk, tkus dh nj ` 120 gSA ;fn pkSM+kbZ 4 ehVj de gks rks ;g nj ` 20 de gks 
tk;sxhA dejs dh pkSM+kbZ Kkr djsaA 

 *a) 24 m/24 ehVj 

 b) 20 m/20 ehVj 

 c) 25 m/25 ehVj 

 d) 18.5 m/18.5 ehVj 
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 Solution: (a) Let the cost of carpeting per sq.m be `1  Area of the room = 120 sq.m 

  Let the breadth of the room be x metres. Length of room = 120/x metres 

  New cost = 120 – 20 = ` 100 

  Breadth = (x – 4) metre. 

  Then 120/x * (x – 4) = 100 = x = 24 

  Hence Breadth = 24 m 

Q.32) Find the greatest number among 260, 348, 436 and 524 is: 

 fuEu esa ls lcls cM+h la[;k Kkr djsa% 
 260, 348, 436 vkSj 524 

 a) 524 

 *b) 348 

 c) 436
 

 d) 260 

 Solution: (b) NA 

Q.33) The length of one side of a rhombus is 6.5 cm and its altitude is 10 cm. If the length of 
its one diagonal is 26 cm, the length of the other diagonal will be: 

 ,d leyEc ptqHkZqt dh ,d Hkqtk 6.5 cm vkSj bldk “kh’kZyEc 10 cm gSA ;fn blds ,d fod.kZ dh 
yEckbZ 26 cm gS] rks nwljs fod.kZ dh yEckbZ gksxh% 

 *a) 5 cm 

 b) 6.5 cm 

 c) 10 cm 

 d) 26 cm 

 Solution: (a) Area = Base × Height 

  = 6.5 × 10 = 65 cm2 

  Let the diagonal of rhombus be d1 and d2. 

  Area =
2

1
d1d1 = 65 

Q.34) What is the sum of all the 3 digit number that leaves a remainder of ‘2’ when divided by 
3? 

 rhu vadksa dh mu lHkh la[;kvksa dk ;ksx fdruk gksxk] ftUgsa 3 ls foHkkftr djus ij 2 “ks’k cprk gS\ 
 a) 189700 

 b) 154749 

 *c) 164850 

 d) 149700 

 Solution: (c) NA 

Q.35) From a point within an equilateral triangle perpendiculars, draw to the three side, are 6 
cm, 7 cm and 8 cm respectively. The length of the side of the triangle is: 

 ,d leckgq f=Hkqt esa fufgr fdlh Çcnq ls bldh rhuksa Hkqtkvksa ds yEcor Øe”k% 6 cm, 7 cm vkSj 8 cm 
dh js[kk,a Ç[kph xbZ gSaA f=Hkqt dh Hkqtk dh yEckbZ gS% 

 a) 
3

7
 cm 

 b) 10.5 cm 

 *c) 14 3  cm 

 d) 
 

3

314
cm 

 Solution: (c) NA 
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Q.36) The average age of 30 boys in a class is 15 years. One boy, aged 20 years, left the class, 
but two news boys come in his place whose ages differ by 5 years. If the average age of 
all the boys now in the class becomes 15 years, the age of the younger new comer is: 

 30 yM+dksa dh ,d d{kk dh vkSlr vk;q 15 o’kZ gSA ,d 20 o’khZ; yM+dk d{kk dks NksM+ nsrk gS] ysfdu nks 
u, yM+ds ftudh vk;q esa 5 o’kZ dk vUrj gS] mldh txg ij d{kk esa vk tkrs gSaA ;fn vc d{kk dh vkSlr 
vk;q 15 o’kZ gks tkrh gS] rks u, NksVs yM+ds dh vk;q gS% 

 a) 20 year 

 *b) 15 year 

 c) 40 year 

 d) 8 year 

 Solution: (b) NA 

Q.37) The discount equivalent to the series of successive discounts of 20% and 10% is: 

 20% vkSj 10% dh nks Øekxr NwV ds cjkcj ,dy NwV gS% 

 a) 20% 

 *b) 28% 

 c) 30% 

 d) 28
3

2
% 

 Solution: (b) Equivalent discount to successive discounts of 20% and 10% 

  = 






 


100

1020
1020 % = (30 – 2)% = 28% 

Q.38) The rate percent per annum of simple interest at which ` 1200 amounts to ` 1668 in 
six years, is: 

 lk/kkj.k C;kt ls ` 1200 dh jkf”k 6 o’kks± esa fdrus izfr”kr dh okÆ’kd nj ij ` 1668 gks tk,xh\ 

 a) 12% 

 b) 9% 

 *c) 6.5% 

 d) 5% 

 Solution: (c)   A = ` 1668, P = ` 1200, n = 6 years. 

   1668 – 1200 = 
100

61200 r
 

   = 6.5% 

Q.39) Imran borrowed a sum of money from Jayant at the rate of 8% per annum simple 
interest for the first four years, 10% per annum for the next six years and 12% per 
annum for the period beyond 10 years. If he pays a total of ` 12,160 as interest only at 
the end of 15 years, how much way did he borrow? 

 bejku] t;ar ls lk/kkj.k C;kt ij igys pkj o’kks± ds fy, 8% dh okÆ’kd nj ls fQj vxys 6 o’kks± ds fy, 
10% okÆ’kd nj ls vkSj fQj vkxs ds le; ds fy, 12% dh okÆ’kd nj ls dqN jkf”k m/kkj ysrk gSA ;fn og 
15 o’kks± ds var esa C;kt ds :i esa dqy ` 12,160 dk Hkqxrku djrk gS] crkb, mlusa fdruh jkf”k m/kkj yh 
Fkh\  

 *a) ` 8000 

 b) ` 10,000 

 c) ` 12,000 

 d) ` 9,000 
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 Solution: (a) Let the principal = ` P 

   
100

512

100

610

100

48 





 PPP
= 12160 

   152P = 12160 × 100 

   P = (12160 × 100)/(152) = ` 8000 

Q.40) If a sum of money placed at compound interest doubles itself is 5 years, then the same 
amount of money will be 8 times of it self in: 

 ;fn ,d jkf”k pØo`f) C;kt ij 5 o’kks± esa nksxquh gks tkrh gS] rks ;gh jkf”k Lo;a 8 dh xquk fdrusa le; esa 
gksxh\ 

 a) 25 years/25 o’kZ 

 b) 20 years/20 o’kZ 

 *c) 15 years/15 o’kZ 

 d) 10 years/10 o’kZ 

 Solution: (c) Since a sum of money double in 5 years. 

   The sum of money will be 8 times (23) in 5 × 3 years i.e., with 15 years. 

Q.41) The difference between simple interest and compound interest in ` 1200 for one year at 
10% per annum compounded half yearly is: 

 o’kks± dh og de ls de la[;k fdruh gS ftlesa ,d jkf”k pØòf) C;kt ij 20% dh okÆ’kd nj ls nksxqus ls 
T;knk gks tk,xh\ 

 *a) 3 

 b) 6 

 c) 7 

 d) 10 

 Solution: (a) NA 

Q.42) The last number of complete years in which a sum of money put out at 20% compound 
interest compounded annually will be more then double is: 

 o’kks± dh og de ls de la[;k fdruh gS ftlesa ,d jkf”k pØòf) C;kt ij 20% dh okÆ’kd nj ls nksxqus ls 
T;knk gks tk,xh\ 

 a) 3 

 *b) 4 

 c) 5 

 d) 7 

 Solution: (b) If the sum of the money is ` x and if it becomes more than double in n 
years (least number of complete years) 

  then xx 2
100

20
1

2









  

    (1 + 0.2)n > 2 

    n = 4 
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Q.43) The annual increase in population of a town is 5%. If the present population is 
1,60,000, the population after 4 years will be: 

 ,d dLcs dh tula[;k esa izfro’kZ gksus okyh of̀) 5% gSA ;fn orZeku tula[;k 1,60,000 gS] rks pkj o’kZ 
ckn tula[;k gksxh% 

 *a) 1,94,481 

 b) 1,78,641 

 c) 1,92,000 

 d) 1,05,000 

 Solution: (a) P = 160000, r = 5% n = 4 years, 

   A = P 
4

100

5
1160000

100
1 



















n
r

 

   = 160000 × 
20

21

20

21

20

21

20

21
  

   = 21 × 21 × 21 × 21 = 194481 

Q.44) A machine was purchased 3 year ago. Its value depreciates by 10% annually. If its 
present value is ` 8748, for how much was its purchased? 

 ,d e”khu 3 o’kZ iwoZ [kjhnh xbZA izfro’kZ bldk 10% ewY; gzkl gksrk gSA ;fn bldk orZeku ewY; ` 8748 
gS] rks bldk Ø; ewY; fdruk Fkk\ 

 a) ` 10,000 

 *b) ` 12,000 

 c) ` 11,372.40 

 d) ` 13,000 

 Solution: (b) n = 3 years, r = 10%, a = ` 8748. 

   8748 = P
3

100

10
1 








  

  P = 
999

1010108748




 = ` 12000 

Q.45) In a race 4 boys A, B, C and D run with the speeds of 9 km/hr, 5 m/sec, 125 m/min 
and 12500 m/h respectively. Who run the fastest? 

 ,d nkSM+ esa 4 yM+ds A, B, C vkSj D Øe”k% 9 fdeh@?kaVk] 5 eh-@lsds.M] 125 eh-@feuV vkSj 12500 
eh-@?kaVk dh xfr ls nkSM+ jgs gSaA lcls rst dkSu nkSM+rk gS\ 

 a) A 

 *b) B 

 c) C 

 d) D 

 Solution: (b) Speed of A = 9 km/hr = 
2

5

18

59



 m/sec 

   = 125/60 m/sec 

  It is clear from above that B ran fastest. 
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Q.46) If Jagan can drive a distance of x miles in 50 minutes, then how many minutes, in 
terms of x, will it take him to drive 10 miles at the same speed? 

 ;fn txu x ehy dh nwjh 50 feuV esa r; djrk gS] rks leku pky ls og fdrus feuV ¼x ds in esa½ esa 10 
ehy dh nwjh r; djsxk\ 

 *a) 500/x 

 b) 60x 

 c) x/50 

 d) 10x 

 Solution: (a) Speed of Jagan = 
50

x
 minutes 

   Time taken to cover 10 miles = 
50/

10

x
 

   = 
x

500
 minutes 

Q.47) 12 men can complete a work in 9 days. 3 days after they started the work, 2 men left 
and 8 joined. How many days will it take to complete the remaining work? 

 12 vkneh ,d dk;Z dks 9 fnuksa esa iwjk dj ldrs gSaA dk;Z “kq: djus ds 3 fnu ckn 2 vkneh dk;Z NksM+dj 
pys tkrs gSa vkSj 8 u, vkneh vk tkrs gSaA “ks’k dk;Z dks iwjk djus esa fdruk le; yxsxk\ 

 a) 2 days 

 b) 3 days 

 *c) 4 days 

 d) 5 days 

 Solution: (c) NA 

Q.48) If A, B and C earn ` 150 per day while A and C earn ` 94 per day and B and C earn ` 
76 per day, the Cs earning per day is: 

 ;fn A, B vkSj C izfrfnu ` 150 dekrs gSa] tcfd A vkSj C izfrfnu ` 94 dekrs gSa vkSj B vkSj C 
izfrfnu ` 76 dekrs gSa] rks C dh izfrfnu dh vk; gS% 

 a) ` 56 

 b) ` 75 

 *c) ` 20 

 d) ` 34 

 Solution: (c) NA 

Q.49) The present ages of three persons are in the proportion of 4 : 7 : 9. Eight years ago, the 
sum of their ages was 56 their present ages in years are : 

 rhu O;fDr;ksa dh orZeku vk;q dk vuqikr 4 : 7 : 9 gSA 8 o’kZ iwoZ mudh vk;q dk ;ksx 56 Fkk] mudh 
orZeku vk;q ¼o’kks± esa½ gS% 

 a) 20, 35, 45 

 b) 8, 20, 8 

 *c) 16, 28, 36 

 d) 12, 16, 20 

 Solution: (c) NA 
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Q.50) The present age of Rahul is 8 years less than Ritu’s present age. If three years ago 
Ritu’s age was x, which of the following represent Rahul’s present age? 

 jkgqy dh orZeku vk;q] fjrq dh orZeku vk;q ls 8 o’kZ de gSA ;fn rhu o’kZ igys fjrq dh vk;q x Fkh] rks fuEu 
esa ls dkSu lk jkgqy dh orZeku vk;q dks iznÆ”kr djrk gS\ 

 a) x + 3 

 *b) x – 5 

 c) x – 3 + 8 

 d) x + 3 + 8 

 Solution: (b) 3 years ago, age of Ritu = x 

   Age of Ritu = x + 3 

   Person age of Rahul = x + 3 – 8 = x – 5 years. 

Q.51) The doctrine of three jewels-Right belief, right conduct and Right knowledge is the 
crowning glory of 

 f=jRu lgh fo”okl] lgh vkpj.k vkSj lgh Kku dk fl)kar ------------ ls lacaf/kr gSA 

 *a) Buddhism/ckS) /keZ 

 b) Christianity/blkbZ /keZ 

 c) Jainism/tSu /keZ 

 d) None of these/buesa ls dksbZ ugha 

 Solution: (a) NA 

Q.52) The monk who influenced Ashoka to embrace Buddhism was 

 v”kksd dks ckS) /keZ viukus ds fy, izsfjr djus okys fHk{kq Fks\ 

 a) Vishnu Gupta/fo’.kq xqIr 

 *b) Upa Gupta/mi xqIr 

 c) Brahma Gupta/czg~e xqIr 

 d) Brihadrath/c`gnzFk 

 Solution: (b) NA 

Q.53) Which Chinese general defeated Kanishka? 

 dkSu ls phuh tujy us dfu’d dks gjk;k\ 

 *a) Pen Chao/isu pko 

 b) Pan Yang/iSu ;kax 

 c) Chi-Huang Ti/ph&gqax rh 

 d) Ho Ti/gks rh 

 Solution: (a) NA 

Q.54) Where is the famous Virupaksha Temple located? 

 izfl) oq#ik{k eafnj dgka fLFkr gS\ 

 a) Bhadrachalam/Hknzkpye 

 b) Chidambaram/fpnacje 

 *c) Hampi/gEih 

 d) Srirangam/Jhjaxe 

 Solution: (c) NA 
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Q.55) Which of the following Sultans of Delhi was known as Lakh Bakhsh (giver of Lakhs)? 

 fuEufyf[kfr esa ls dkSu lk fnYyh dk lqYrku yk[k c[l ¼yk[kksa dk nkrk½ ds uke ls tkuk tkrk Fkk\ 

 a) Iltutmish/bYrqrfe”k 

 b) Balban/cycu 

 c) Alauddin Khilji/vykmíhu f[kyth 
 *d) Firoz Tughlaq/fQjkst rqxyd 

 Solution: (d) NA 

Q.56) Kabuliyat and Patta was introduced by 

 dcqfy;r vkSj iV~Vk ------------- }kjk “kq: fd;k x;kA 

 *a) Sher Shah/”ksj “kkg 

 b) Shivaji/f”kokth 

 c) Jahangir/tgk¡xhj 

 d) Aurangzeb/vkSjaxtsc 

 Solution: (a) NA 

Q.57) Who among the following has started the Public Works Department in India in 1848? 

 fuEufyf[kr esa ls fdlus 1848 esa Hkkjr esa yksd fuekZ.k foHkkx “kq: fd;k\ 

 a) Lord William Bentick/ykMZ fofy;e cSafVd 

 *b) Lord Dalhousie/ykMZ MygkSth 

 c) Lord Wellesley/ykMZ osystyh 
 d) Lord Cornawallis/ykMZ dkuZokfyl 

 Solution: (b) NA 

Q.58) Who was the founder of Ram Krishna Mission? 

 jke Ñ’.k fe”ku ds laLFkkid dkSu Fks\ 

 *a) Swami Vivekananda/Lokeh foosdkuan 

 b) Raja Rammohan Roy/jktk jkeeksgu jk; 

 c) Swami Dayanand Saraswati/Lokeh n;kuan ljLorh 
 d) Rabindra Nath Tagore/jfcUnz ukFk VSxksj 

 Solution: (a) NA 

Q.59) Who played an important role in signing of Gandhi Irwin Pact 

 xka/kh bjfou laf/k ij gLrk{kj djus esa fdlus egRoiw.kZ Hkwfedk fuHkkbZ\ 

 a) Motilal Nehru/eksrhyky usg# 

 b) Madan Mohan Malviya/enu eksgu ekyoh; 

 *c) Tej Bahadur Sapru/rst cgknqj li: 

 d) Chintamani/Çprkef.k 

 Solution: (c) NA 

Q.60) At the second Round Table Conference, the Indian National Congress was represented 
by  

 nwljs xksyest lEesyu esa] Hkkjrh; jk’Vªh; dkaxzsl dk izfrfuf/kRo fdlus fd;k\ 

 a) Jawahar Lal Nehru/tokgj yky usg: 

 *b) Mohandas Karamchand Gandhi/eksgunkl djepan xk¡/kh 

 c) Rajendra Prasad/jktsanz izlkn 

 d) Vallabhabhai Patel/oYyHkHkkbZ iVsy 

 Solution: (b) NA 
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Q.61) Which part of the earth’s surface receive the highest amount of insulation? 

 iF̀oh dh lrg dk dkSu lk fgLlk lcls vf/kd bUlqys”ku izkIr gS\ 

 *a) Tropical deserts/m’.kdfVca/kh; jsfxLRkku 

 b) Equatorial region/fo’kqor {ks= 

 c) Savanna region/pkjkxkg {ks= 

 d) Sub tropical region/mi m’.kdfVca/kh; {ks= 

 Solution: (a) NA 

Q.62) Meteorites are the heavenly bodies 

 mYdkÇiM varfj{k laca/kh fudk; gSa% 

 a) Between the Mars and the Jupiter/eaxy vkSj c̀gLifr ds chp 

 b) Between the Saturn and the Neptune/”kfu vkSj usiP;wu ds chp 

 c) Between the Mars and the Venus/eaxy vkSj “kqØ ds chp 

 *d) That burn brightly on entering the Earth atmosphere/iF̀oh ds ok;qeaMy esa izos”k djus ij 
ped ds lkFk tyrs gSa 

 Solution: (d) NA 

Q.63) The largest lake in Africa is 

 vÝhdk esa lcls cM+h >hy gS% 

 *a) Lack Victoria/foDVksfj;k >hy 

 b) Lake Malawi/ekykoh >hy 

 c) Lake Tanganyika/rUxaf;dk >hy 

 d) Lake Chad/pkM >hy 

 Solution: (a) NA 

Q.64) On the clear winter night earth is cooled by 

 lÆn;ksa esa jkr esa Hkwfe ------------ }kjk BaMh gks tkrh gSA 

 a) Conduction/pkyu 

 b) Convection/laogu 

 *c) Radiation/fofdj.k 
 d) Condensation/la?kuu 

 Solution: (c) NA 

Q.65) Coconut triangle is located in 

 ukfj;y f=dks.k ------------ esa fLFkr gSA 

 a) India/Hkkjr 

 *b) Sri Lanka/Jh yadk 

 c) Bangladesh/ckaXykns”k 
 d) Maldives/ekynho 

 Solution: (b) NA 

Q.66) Which state has the smallest land area? 

 fdl jkT; dk Hkwfe {ks=Qy lcls de gS\ 

 a) Goa/xksvk 

 b) Nagaland/ukxkySaM 

 *c) Sikkim/flfDde 

 d) Tripura/f=iqjk 

 Solution: (c) NA 
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Q.67) The partition of Bengal was effected in 1905 by 

 1905 esa caxky dk foHkktu fdlds dky esa gqvk\ 

a) Lord Minto/ykMZ feUVks 

 b) Lord Lytton/ykMZ fyVu 

 *c) Lord Curzon/ykMZ dt+Zu 

 d) Lord Lawrence/ykMZ ykWjsal 

 Solution: (c) NA 

Q.68) Damodar river rises in 

 nkeksnj unh dk mn~xe -------------- esa gSA 

 *a) Chota Nagpur plateau/NksVk ukxiqj iBkj 

 b) Naga hills/ukxk igkfM+;ksa 

 c) Satpura range/lriqM+k ioZr Js.kh 
 d) None of these/buesa ls dksbZ ugha 

 Solution: (a) NA 

Q.69) Which of the following soil is most fertile? 

 fuEufyf[kr esa ls dkSu lh feV~Vh lcls vf/kd mitkÅ gS\ 

 a) Khader/[kknj 

 b) Bangar/ckaxj 

 *c) Laterite/ysVjkbV 

 d) Arid/,fjM 

 Solution: (c) NA 

Q.70) The first hydro-electric power station was constructed in 1902 at 

 igys iufctyh LVs”ku dk 1902 esa ------------ esa fuekZ.k fd;k x;kA 

 a) Mettur/esÙkqj 

 b) Pykara/ihdjk 

 c) Kundah/dqaM 

 *d) Sivasamudram/flokleqnze 

 Solution: (d) NA 

Q.71) Total internal reflection of light is possible when light enters from 

 izdk”k dk dqy vkUrfjd izfrfcEc laHko gS] tc izdk”k --------------- esa izos”k djrk gSA 

 a) Air to glass/gok ls dk¡p 

 b) Vacuum to air/fuokZr ls gok 

 c) Air to water/gok ls ikuh 
 *d) Water to air/ikuh ls gok 

 Solution: (d) NA 

Q.72) Fuse wire should have 

 ¶;wt dh rkj esa gksuk pkfg,% 

 a) Low resistance, high melting point/de izfrjks/k] mPp xyukad Çcnq 

 b) Low resistance, low melting point/de izfrjks/k] fuEu xyukad Çcnq 

 *c) High resistance, low melting point/T;knk izfrjks/k] fuEu xyukad Çcnq 
 d) High resistance, high melting point/T;knk izfrjks/k] mPp xyukad Çcnq 

 Solution: (c) NA 
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Q.73) Enriched uranium is better as a fuel for a nuclear reactor because it has greater 
proportion of 

 laoÆ/kr ;wjsfu;e ,d ijek.kq fj,DVj ds fy, b±/ku ds :i esa csgrj gS] D;ksafd blesa ------------ dk vuqikr cgqr 
vf/kd gSA 

 a) 233U 

 *b) 235U 

 c) 238U 

 d) 239U 

 Solution: (b) NA 

Q.74) Gamma rays are 

 xkek fdj.ksa gS% 

 a) Single ionized gas atom/,dy vk;fur xSl ijek.kq 

 b) Helium nucleus/ghfy;e ukfHkd 

 c) Fast moving electron/rst xfr”khy bysDVªku 

 *d) Electromagnetic waves/fo|qr pqEcdh; rjaxsa 
 Solution: (d) NA 

Q.75) Hydrogen was discovered by 

 gkbMªkstu dh [kkst fdlus dh% 

 *a) Cavendish/dsoufM”k 

 b) Lavoisier/yoksbfl,j 

 c) Rutherford/jnjQksMZ 
 d) Scheele/LDghys 
 Solution: (a) NA 

Q.76) Kerosene is a mixture of 

 dsjksflu --------------- dk feJ.k gSA 

 a) Aromatic hydrocarbon/lqxaf/kr gkbMªksdkcZu 

 *b) Aliphatic hydrocarbons/,sfyQSfVd gkbMªksdkcZu 

 c) Saturated hydrocarbons/lSpqjsVsM gkbMªksdkcZu 

 d) Alicyclic hydrocarbons/vyhlkbfDyd gkbMªksdkcZu 

 Solution: (b) NA 

Q.77) Which one of the following was used as chemical weapon in the first world war? 

 fuEu esa ls dkSu lk ,d izFke fo”o ;q) esa ,d jklk;fud gfFk;kj ds :i esa bLrseky fd;k x;k Fkk\ 

 a) Carbon monoxide/dkcZu eksuksvkWDlkbM 

 b) Hydrogen cyanide/gkbMªkstu lkbukbM 

 *c) Mustard gas/eLVMZ xSl 

 d) Water gas/ty xSl 

 Solution: (c) NA 

Q.78) Which of the following is a free living bacteria that help in nitrogen fixation? 

 fuEufyf[kr esa ls dkSu lk Lora= jgus okyk cSDVhfj;k ukbVªkstu fLFkjhdj.k esa enn djrk gS\ 

 *a) Azotobacter/vtksVkscdVj 

 b) Anabaena/vukcSuk 

 c) Azolla/vtksYyk 
 d) Nostoc/uksLVkWd 

 Solution: (a) NA 
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Q.79) Botanical name of wheat plant is 

 xsgwa ds ikS/ks dk okuLifrd uke gS% 

 a) Zea miaz/th fevkt 

 b) Oryza sativa/vksj¸t+k lfrok 

 *c) Titicum aestivum/VhVhde ,fLroe 

 d) Hordium bulgier/gksfMZ;e cqfYx,j 

 Solution: (c) NA 

Q.80) Double fertilization is main feature of 

 nksgjk fu’kspu ------------ dh eq[; fo”ks’krk gSA 

 a) Bryophytes/czk;ksQkbV~l 

 b) Pteridophytes/VsfjMksQkbV 

 c) Gymnosperm/vuko`rchth 
 *d) Angiosperm/l vkòrchth 

 Solution: (d) NA 

Q.81) Study of vestigial organ is called 

 vYifodflr vaxksa ds v/;;u dks dgk tkrk gS% 

 a) Dermatology/RopkfoKku 

 *b) Neonatology/fu;ksusVksykWth 

 c) Lapidopterology/ykfiMksIVsjksyksth 
 d) Polynalogy/iksyhukyksth 

 Solution: (b) NA 

Q.82) Insulin is discovered by 

 bUlqfyu dh [kkst ------------ us dhA 

 a) Linak/yhud 

 *b) Banting and Best/cSaÇVx vkSj csLV 

 c) Jenner/tsausj 

 d) Waksman/okDlesu 

 Solution: (b) NA 

Q.83) Which one of the following types of waves are used in a night vision apparatus? 

 fuEufyf[kr esa ls dkSu lh rjax ,d jkf= n`f’V midj.k ds :i esa iz;ksx gksrh gS\ 

 a) Radio waves/jsfM;k rjax 

 b) Micro waves/lw{e rjaxsa 

 *c) Infrared waves/vojDr rjax 

 d) None of these/buesa ls dksbZ ugha 

 Solution: (c) NA 

Q.84) A noise level of 100 decibel would correspond to 

 100 Msflcy dk “kksj Lrj --------------- ds vuq:i gksxkA 

 a) Just audible sound/flQZ JO; /ofu 

 b) Ordinary conversation/lk/kkj.k ckrphr 

 c) Sound from a noisy street/,d pgy igy okyh xys ds “kksj 

 *d) Noise from a machine shop/,d e”khu okyh nqdku ds “kksj 

 Solution: (d) NA 
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Q.85) A ‘Black Hole’ is a body in space which does not allow any radiation to come out. This 
property is due to its 

 ^^CySd gksy** varfj{k esa ,d fudk; gS] tks fdlh Hkh fofdj.k dks cgkj ugha vkus nsrk gSA bldk ;g xq.k blds 
-------------- ds dkj.k gSA 

 a) very small size/cgqr NksVs vkdkj 

 b) very large size/cgqr cM+s vkdkj 

 *c) very high density/cgqr vf/kd l?kurk 

 d) very low size/cgqr fuEu vkdkj 

 Solution: (c) NA 

Q.86) Which one among the following has the highest energy? 

 fuEufyf[kr esa ls fdlesa lcls vf/kd “kfDr gS\ 

 *a) Blue light/uhyk izdk”k 

 b) Green light/gjk izdk”k 

 c) Red light/yky izdk”k 

 d) Yellow light/ihyk izdk”k 

 Solution: (a) NA 

Q.87) When water is heated from 0° C to 10° C its volume 

 tc ikuh dks 0° C ls 10° C rd xeZ fd;k tkrk gS] rks bldk vk;ru% 

 a) Increases/c<+rk gS 

 b) Decreases/?kVrk gS 

 c) Does not change/ifjoÆrr ugha gksrk gS 

 *d) First decreases then increases/igys ?kVrk gS fQj c<+rk gS 

 Solution: (d) NA 

Q.88) The offending substance in the liquor tragedies leading to blindness etc. is — 

 n`f’Vghurk ds fy, mÙkjnk;h “kjkc esa gkfjdkjd inkFkZ gS% 

 a) ethyl alcohol/,fFky vYdksgy 

 b) amyl alcohol/,sfey vYdksgy 

 c) benzyl alcohol/csatkby vYdksgy 

 *d) methyl alcohol/feFkkby vYdksgy 

 Solution: (d) NA 

Q.89) Which one of the following elements is alloyed with iron to produce steel which can 
resist high temperature and also has high hardness and abrasion resistance? 

 fuEu esa ls dkSu lh feJ/kkrq LVhy ds fuekZ.k ds fy, yksgs ds lkFk feykbZ tkrh gSA tks mPp rkieku dk 
fojks/k djrh gS] [kjksap izfrjks/kh vkSj lkFk gh cgqr dBksj gS\ 

 a) Aluminium/,yqfefu;e 

 *b) Chromium/Øksfe;e 

 c) Nickel/fudy 

 d) Tungsten/VaxLVu 

 Solution: (b) NA 
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Q.90) Which one of the following is used as an anti-freeze for the automobile engines? 

 fuEufyf[kr esa ls dkSu lk ,d vkWVkseksckby batu esa ,aVh&Ýht ds :i esa bLrseky fd;k tkr gS\ 

 a) Prophyl alcohol/izksfiy ,Ydksgy 

 b) Ethanol/,FksukWy 

 c) Methanol/esFkukWy 

 *d) Ethylene glycol/bZFkhyhu Xykbdksy 

 Solution: (d) NA 

Q.91) Robert Webster is known for his work associated with which one of the following? 

 jkscVZ oscLVj vius dke ds fy, tkuk tkrk gS] ;g fuEufyf[kr esa ls fdlls lkFk lacaf/kr gS\ 

 a) Cardiology/dkÆM;ksykWth 

 *b) Influenza virus/tqdke dk fo’kk.kq 

 c) HIV/AIDS/,p-vkbZ-oh-@,M~l 

 d) Alzheimer/ekufld jksx 

 Solution: (b) NA 

Q.92) In the Indian context of defence, what is Dhruv? 

 j{kk ds Hkkjrh; lUnHkZ ds /kzqo D;k gS\ 

 a) Aircraft-carrying warship/foeku okgd ;q)iksr 

 b) Missile-carrying submarine/felkby okgd iuMqCch 

 *c) Advanced light helicopter/mUur gyds gsyhdkIVj 

 d) Ballistic missile/cSfyfLVd felkby 

 Solution: (c) NA 

Q.93) In which one of the following location is the International Thermonuclear Experimental 
Reactor (ITER) project is built? 

 fuEufyf[kr esa ls fdlesa baVjus”kuy FkeksZU;wfDy;j ,DlisfjesaVy fj,DVj ¼vkbZ-Vh-bZ-vkj-½ izkstsDV dk fuekZ.k 
gqvk gS\ 

 a) Spain/Lisu 

 *b) France/Ýkal 

 c) Germany/teZuh 

 d) Italy/bVyh 

 Solution: (b) NA 

Q.94) The memory of a computer is commonly expressed in terms of kilobytes or megabytes. 
A byte is made up of 

 ,d daI;wVj dh eseksjh dks lkekU;r% fdyksckbV~l ;k esxkckbV~l esa O;Dr fd;k tkrk gSA ,d ckbV ----------- ls 
cuk gS 

 *a) eight binary digits/vkB ckbujh fMftV 

 b) eights decimal digits/vkB n”keyo fMftV 

 c) two binary digits/nks ckbujh fMftV 

 d) two decimal digits/nks n”keyo fMftV 

 Solution: (a) NA 
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Q.95) Liver is located in 

 ;Ñr -------------- esa fLFkr gSA 

 a) thorax/Nkrh 

 *b) Abdomen/isV 

 c) Neck/xnZu 

 d) Head/flj 

 Solution: (b) NA 

Q.96) ‘Elisa’ is — 

 ,fylk gS% 

 a) Fat deposition test/olk ds teusa dk ijh{k.k 

 *b) Immunological test/jksx izfrj{k.k ijh{k.k 

 c) Bone malformation test/vfLFk dq:irk ijh{k.k 
 d) None of the above/mijksDr esa ls dksbZ ugha 

 Solution: (b) NA 

Q.97) Who discovered the blood group in human being? 

 ekuo esa jDr lewg dh [kkst fdlus dh\ 

 a) Jennings/tsaÇuXl 

 b) Robert G. Edwards/jkcVZ th- ,MoM~Zl 

 *c) Landsteiner/ySaMLVhuj 

 d) Pantin and Mast/iSufVu vkSj eLV 

 Solution: (c) NA 

Q.98) Primary source of biological energy is — 

 tSfod ÅtkZ dk izkFkfed lzksr gS% 

 a) Green plants/gjs ikS/ks 

 b) Non green plants/xSj gjs ikS/ks 

 *c) Sun/lw;Z 
 d) Animals/i”kq 

 Solution: (c) NA 

Q.99) Plague is a — 

 Iysx gS% 

 *a) Bacterial disease/thok.kq jksx 

 b) Viral disease/ok;jy jksx 

 c) Mineral deficiency disease/[kfut dh deh dh chekjh 
 d) Fungal disease/QQwan jksx 

 Solution: (a) NA 

Q.100) The substance most commonly used as a food preservative is — 

 Hkkstu laj{kd ds :i esa fdl inkFkZ dk lcls vf/kd bLrseky gksrk gS% 

 a) Tartaric acid/rrkZfjd ,flM 

 b) Acetic acid/,flfVd ,flM 

 *c) Sodium salt of benzoic acid/lksfM;e lkYV vkWQ csfUt+d ,flM 

 d) Sodium carbonate/lksfM;e dkcksZusV 

 Solution: (c) NA 
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